
HONDA CBR500R / 400R (’19- )
REAR SETS  part# H-CBR519RS

9
10

17
35

satoracing.com

(To stock 
Shift Rod)

13

7

42 20

(Back view)

13

20

7

27

42

20

39

16 26

3

29

22

32

5

12

21
11

142842

33

37

6

1

To Frame

2041

18

 1. [L] HEEL GUARD  [HG-2L]

 3. [L] STEP PLATE  [H-CBR513SP-L]

 5. SHIFT PEDAL  [SPD-10]

 6. SHIFT ROD 170 (BK)  [SRD-170]

 7. V LINK (BK)  [SK-1]

 9. FOOT PEG  [PEG]

10. FOOT PEG END CAP (DELRIN)  [ST-002]

11. PEDAL TIP (DELRIN)  [ST-001D18]

12. BEARING COLLAR 10s (BK)  [BGCLR-10SB]

13. BEARING COLLAR 13s (BK)  [BGCLR-13SB]

14. ROD END COLLAR 3 (GD)  [RDEDCLR-3]

16. BASE PLATE COLLAR 8 (BK)  [BPCLR-8]  x 2
17. PEG COLLAR 15  [PEGCLR-15]

18. URETHANE RING  [W252005]  x 2
20. HEX HEAD M6x18mm  [HBT-M618]  x 2
21. HEX HEAD M6x20mm  [HBT-M620]

22. HEX HEAD M8x40mm  [HBT-M840]

26. SOCKET HEAD M8x25mm  [SBT-M825]  x 2
27. SOCKET HEAD M8x45mm  [SBT-M845]

28. LOW SOCKET HEAD M6x20mm  [LSBT-M620]

29. BUTTON HEAD M6x10mm  [BBT-M610]  x 2
32. BUTTON HEAD M8x35mm  [BBT-M835]

33. STUD M6  [STUD-M6]

35. SPLIT WASHER M8  [SWS-8]

37. JAM NUT M6  [JNT-6]   x 2
39. REVERSE JAM NUT M6  [JNT-6L]

41. REVERSE MALE ROD END M6  [RDED-M6L]

42. FEMALE ROD END M6  [RDED-F6]  x 2

[L]-SIDE


